Academic Students	Additi High Educa and I Emplo	ner Ition Not	Emplo No Additi High Educa	onal ner	Additi High Educa an Emplo	ier ition d	Employed and/or Additional Higher Education		Students Not Found		Total Former Students
11070100 - Computer Scie	nco										
Graduate	2	22.2%	3	33.3%	1	11.1%	6	66.7%	3	33.3%	9
Non-returner	3	7.1%	22	52.4%	1	2.4%	26	61.9%	16	38.1%	42
Total	5	9.8%	25	49.0%	2	3.9%	32	62.7%	19	37.3%	51
14010100 - Engineering, G	eneral										
Graduate	2	15.4%	4	30.8%	4	30.8%	10	76.9%	3	23.1%	13
Non-returner	2	6.7%	17	56.7%	4	13.3%	23	76.7%	7	23.3%	30
Total	4	9.3%	21	48.8%	8	18.6%	33	76.7%	10	23.3%	43
24010100 - Liberal Arts and Sciences/Liberal Studies											
Completer	14	18.9%	22	29.7%	24	32.4%	60	81.1%	14	18.9%	74
Non-returner	25	8.0%	170	54.1%	51	16.2%	246	78.3%	68	21.7%	314
Total	39	10.1%	192	49.5%	75	19.3%	306	78.9%	82	21.1%	388
26010100 - Biology/Biolog	ical Scienc	es, Gene	ral								
Graduate	14	15.6%	40	44.4%	17	18.9%	71	78.9%	19	21.1%	90
Non-returner	24	6.8%	193	54.8%	54	15.3%	271	77.0%	81	23.0%	352
Total	38	8.6%	233	52.7%	71	16.1%	342	77.4%	100	22.6%	442
27010100 - Mathematics, 0	General										
Graduate	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2
Non-returner	1	25.0%	2	50.0%	0	0.0%	3	75.0%	1	25.0%	4
Total	1	16.7%	3	50.0%	0	0.0%	4	66.7%	2	33.3%	6
40080100 - Physics, Gener	ral										
Non-returner	2	50.0%	2	50.0%	0	0.0%	4	100.0%	0	0.0%	4
Total	2	50.0%	2	50.0%	0	0.0%	4	100.0%	0	0.0%	4
99999999 - Undeclared Ma	ijor										
Undeclared	27	21.8%	38	30.6%	26	21.0%	91	73.4%	33	26.6%	124
Total	27	21.8%	38	30.6%	26	21.0%	91	73.4%	33	26.6%	124

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
01010600 - Agricultural Business Technology/Technician.													
Graduate	0	0.0%	3	100.0%	0	0.0%	3	100.0%	0	0.0%	3		
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1		
Total	0	0.0%	3	75.0%	1	25.0%	4	100.0%	0	0.0%	4		
04090100 - Architectural T	echnology	/Technicia	an										
Graduate	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2		
Non-returner	5	11.6%	17	39.5%	10	23.3%	32	74.4%	11	25.6%	43		
Total	5	11.1%	19	42.2%	10	22.2%	34	75.6%	11	24.4%	45		
10030400 - Animation, Inte	eractive Ted	chnology,	Video Gr		d Special	Effects							
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
11020100 - Computer Prog	gramming/F	•	er, Gener	al									
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
Non-returner	19	16.7%	50	43.9%	24	21.1%	93	81.6%	21	18.4%	114		
Total	19	16.5%	51	44.3%	24	20.9%	94	81.7%	21	18.3%	115		
11080100 - Web Page, Dig	ital/Multime		nformatio		es Desigi								
Non-returner	3	25.0%	3	25.0%	3	25.0%	9	75.0%	3	25.0%	12		
Total	3	25.0%	3	25.0%	3	25.0%	9	75.0%	3	25.0%	12		
11100100 - Network and S	-		n/Adminis	strator									
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1		
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1		
11100200 - System, Netwo	rking, and	LAN/WAN	l Managei	ment/Mana	ager								
Non-returner	6	10.5%	29	50.9%	14	24.6%	49	86.0%	8	14.0%	57		
Total	6	10.5%	29	50.9%	14	24.6%	49	86.0%	8	14.0%	57		
11100300 - Computer and	Informatio	-	s Security	_	Informatio		nce						
Graduate	1	11.1%	6	66.7%	0	0.0%	7	77.8%	2	22.2%	9		
Non-returner	21	16.5%	45	35.4%	25	19.7%	91	71.7%	36	28.3%	127		
Total	22	16.2%	51	37.5%	25	18.4%	98	72.1%	38	27.9%	136		
12050300 - Culinary Arts/0	Chef Trainir	ng											
Graduate	1	11.1%	7	77.8%	0	0.0%	8	88.9%	1	11.1%	9		
Non-returner	8	6.5%	83	67.5%	11	8.9%	102	82.9%	21	17.1%	123		
Total	9	6.8%	90	68.2%	11	8.3%	110	83.3%	22	16.7%	132		
13150100 - Teacher Assist	tant/Aide												
Graduate	1	7.1%	4	28.6%	9	64.3%	14	100.0%	0	0.0%	14		
Non-returner	24	12.5%	73	38.0%	57	29.7%	154	80.2%	38	19.8%	192		
Total	25	12.1%	77	37.4%	66	32.0%	168	81.6%	38	18.4%	206		

Technical Students	Additi High Educa and I Emplo	ier ition Not	Emplo No Additi High Educa	onal High onal Educa ner and		her ation Id	Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
15030300 - Electrical, Electronic, and Communications Engineering Technology/Technician													
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1		
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1		
15040100 - Biomedical Ted	chnology/T	echnician	1										
Graduate	1	4.5%	16	72.7%	2	9.1%	19	86.4%	3	13.6%	22		
Non-returner	9	14.8%	18	29.5%	16	26.2%	43	70.5%	18	29.5%	61		
Total	10	12.0%	34	41.0%	18	21.7%	62	74.7%	21	25.3%	83		
15040300 - Electromechan	ical/Electro	omechani	cal Engine	eering Ted	:hnology/	Гесhniciaı	n						
Graduate	1	2.3%	31	70.5%	0	0.0%	32	72.7%	12	27.3%	44		
Non-returner	7	8.3%	47	56.0%	13	15.5%	67	79.8%	17	20.2%	84		
Total	8	6.2%	78	60.9%	13	10.2%	99	77.3%	29	22.7%	128		
15040400 - Instrumentatio	n Technolo	gy/Techn	ician										
Non-returner	15	25.9%	16	27.6%	20	34.5%	51	87.9%	7	12.1%	58		
Total	15	25.9%	16	27.6%	20	34.5%	51	87.9%	7	12.1%	58		
15040500 - Robotics Tech	nology/Tec	hnician											
Non-returner	2	10.0%	9	45.0%	8	40.0%	19	95.0%	1	5.0%	20		
Total	2	10.0%	9	45.0%	8	40.0%	19	95.0%	1	5.0%	20		
15040600 - Automation En	gineer Tec	hnology/	Гесhnician	1									
Non-returner	0	0.0%	8	47.1%	5	29.4%	13	76.5%	4	23.5%	17		
Total	0	0.0%	8	47.1%	5	29.4%	13	76.5%	4	23.5%	17		
15050100 - Heating, Ventil	ation , Air (Condition	ing and Re	efrigeratio	n Techno	logy/Tech	nician						
Graduate	0	0.0%	8	61.5%	1	7.7%	9	69.2%	4	30.8%	13		
Non-returner	5	4.1%	69	57.0%	14	11.6%	88	72.7%	33	27.3%	121		
Total	5	3.7%	77	57.5%	15	11.2%	97	72.4%	37	27.6%	134		
15050700 - Environmental	/Environme	ental Engi	neering Te	echnology	//Technici	an							
Non-returner	2	25.0%	6	75.0%	0	0.0%	8	100.0%	0	0.0%	8		
Total	2	25.0%	6	75.0%	0	0.0%	8	100.0%	0	0.0%	8		
15061200 - Industrial Tech	nology/Ted	hnician											
Graduate	0	0.0%	17	85.0%	0	0.0%	17	85.0%	3	15.0%	20		
Non-returner	1	5.3%	11	57.9%	4	21.1%	16	84.2%	3	15.8%	19		
Total	1	2.6%	28	71.8%	4	10.3%	33	84.6%	6	15.4%	39		
15061300 - Manufacturing	Engineerin	g Techno	ology/Tech	nician									
Non-returner	6	7.1%	51	60.0%	17	20.0%	74	87.1%	11	12.9%	85		
Total	6	7.1%	51	60.0%	17	20.0%	74	87.1%	11	12.9%	85		

Technical Students	Additi High Educa and I Emplo	ner ntion Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
15070100 - Occupational Safety and Health Technology/Technician													
Non-returner	6	24.0%	10	40.0%	5	20.0%	21	84.0%	4	16.0%	25		
Total	6	24.0%	10	40.0%	5	20.0%	21	84.0%	4	16.0%	25		
15100100 - Construction E	ngineering	j Technol	ogy/Techr	ician									
Graduate	0	0.0%	4	50.0%	2	25.0%	6	75.0%	2	25.0%	8		
Non-returner	8	11.4%	28	40.0%	14	20.0%	50	71.4%	20	28.6%	70		
Total	8	10.3%	32	41.0%	16	20.5%	56	71.8%	22	28.2%	78		
15130200 - CAD/CADD Dra	afting and/o	_	Technolo	gy/Technic									
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
15130300 - Architectural D	rafting and	d Archited	tural CAD	/CADD									
Non-returner	6	15.4%	17	43.6%	9	23.1%	32	82.1%	7	17.9%	39		
Total	6	15.4%	17	43.6%	9	23.1%	32	82.1%	7	17.9%	39		
15130600 - Mechanical Dra	afting and I	Mechanic	al Drafting	CAD/CAD	D								
Non-returner	2	25.0%	1	12.5%	4	50.0%	7	87.5%	1	12.5%	8		
Total	2	25.0%	1	12.5%	4	50.0%	7	87.5%	1	12.5%	8		
15170300 - Solar Energy T	echnology	/Technici	an										
Non-returner	4	36.4%	2	18.2%	2	18.2%	8	72.7%	3	27.3%	11		
Total	4	36.4%	2	18.2%	2	18.2%	8	72.7%	3	27.3%	11		
41030300 - Chemical Proc	ess Techno	ology											
Non-returner	8	19.0%	23	54.8%	6	14.3%	37	88.1%	5	11.9%	42		
Total	8	19.0%	23	54.8%	6	14.3%	37	88.1%	5	11.9%	42		
46030100 - Electrical and I	Power Tran	smission	Installatio	on/Installe	r, General								
Non-returner	32	21.9%	52	35.6%	46	31.5%	130	89.0%	16	11.0%	146		
Total	32	21.9%	52	35.6%	46	31.5%	130	89.0%	16	11.0%	146		
46030200 - Electrician													
Non-returner	4	17.4%	8	34.8%	7	30.4%	19	82.6%	4	17.4%	23		
Total	4	17.4%	8	34.8%	7	30.4%	19	82.6%	4	17.4%	23		
46030300 - Lineworker													
Graduate	3	5.4%	41	73.2%	1	1.8%	45	80.4%	11	19.6%	56		
Non-returner	37	18.4%	99	49.3%	35	17.4%	171	85.1%	30	14.9%	201		
Total	40	15.6%	140	54.5%	36	14.0%	216	84.0%	41	16.0%	257		
46050300 - Plumbing Tech	nology/Plu	ımber											
Non-returner	2	9.5%	9	42.9%	7	33.3%	18	85.7%	3	14.3%	21		
Total	2	9.5%	9	42.9%	7	33.3%	18	85.7%	3	14.3%	21		

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
47010400 - Computer Installation and Repair Technology/Technician														
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
47060300 - Autobody/Colli	ision and R	epair Tecl	hnology/T	echnician										
Graduate	0	0.0%	5	55.6%	2	22.2%	7	77.8%	2	22.2%	9			
Non-returner	4	11.1%	16	44.4%	9	25.0%	29	80.6%	7	19.4%	36			
Total	4	8.9%	21	46.7%	11	24.4%	36	80.0%	9	20.0%	45			
47060400 - Automobile/Au	itomotive N		Technolo		cian									
Graduate	1	3.2%	22	71.0%	4	12.9%	27	87.1%	4	12.9%	31			
Non-returner	20	13.2%	66	43.7%	50	33.1%	136	90.1%	15	9.9%	151			
Total	21	11.5%	88	48.4%	54	29.7%	163	89.6%	19	10.4%	182			
47060500 - Diesel Mechan	ics Techno	logy/Tech	nician											
Non-returner	32	19.3%	68	41.0%	48	28.9%	148	89.2%	18	10.8%	166			
Total	32	19.3%	68	41.0%	48	28.9%	148	89.2%	18	10.8%	166			
47060700 - Airframe Mech	anics and A	Aircraft Ma	aintenanc	e Technol	ogy/Techr	nician								
Graduate	1	25.0%	1	25.0%	0	0.0%	2	50.0%	2	50.0%	4			
Non-returner	11	28.2%	9	23.1%	12	30.8%	32	82.1%	7	17.9%	39			
Total	12	27.9%	10	23.3%	12	27.9%	34	79.1%	9	20.9%	43			
47060800 - Aircraft Power	plant Techr	nology/Ted	chnician											
Graduate	3	16.7%	8	44.4%	3	16.7%	14	77.8%	4	22.2%	18			
Non-returner	3	15.0%	8	40.0%	6	30.0%	17	85.0%	3	15.0%	20			
Total	6	15.8%	16	42.1%	9	23.7%	31	81.6%	7	18.4%	38			
47060900 - Avionics Maint	enance Te	chnology/	Technicia	n										
Non-returner	7	38.9%	7	38.9%	3	16.7%	17	94.4%	1	5.6%	18			
Total	7	38.9%	7	38.9%	3	16.7%	17	94.4%	1	5.6%	18			
48050100 - Machine Tool 1	Гесhnology	/Machinis	t											
Graduate	0	0.0%	2	40.0%	2	40.0%	4	80.0%	1	20.0%	5			
Non-returner	6	9.8%	34	55.7%	12	19.7%	52	85.2%	9	14.8%	61			
Total	6	9.1%	36	54.5%	14	21.2%	56	84.8%	10	15.2%	66			
48050800 - Welding Techn	ology/Weld	der												
Graduate	3	5.7%	33	62.3%	5	9.4%	41	77.4%	12	22.6%	53			
Non-returner	88	13.7%	300	46.7%	146	22.7%	534	83.0%	109	17.0%	643			
Total	91	13.1%	333	47.8%	151	21.7%	575	82.6%	121	17.4%	696			
49010200 - Airline/Comme	rcial/Profes	ssional Pil	ot and Fli	ght Crew										
Non-returner	4	15.4%	6	23.1%	13	50.0%	23	88.5%	3	11.5%	26			
Total	4	15.4%	6	23.1%	13	50.0%	23	88.5%	3	11.5%	26			

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students		
50040100 - Design and Visual Communications, General													
Graduate	1	9.1%	4	36.4%	2	18.2%	7	63.6%	4	36.4%	11		
Non-returner	8	13.8%	19	32.8%	18	31.0%	45	77.6%	13	22.4%	58		
Total	9	13.0%	23	33.3%	20	29.0%	52	75.4%	17	24.6%	69		
50040900 - Graphic Design		00.00/	•	07.50/	_	00.00/	0.4	07.50/		40.50/	0.4		
Non-returner	5	20.8%	9	37.5%	7	29.2%	21	87.5%	3	12.5%	24		
Total	5	20.8%	9	37.5%	7	29.2%	21	87.5%	3	12.5%	24		
51060200 - Dental Hygiene	e/Hygienist												
Graduate	0	0.0%	18	90.0%	1	5.0%	19	95.0%	1	5.0%	20		
Non-returner	5	5.4%	51	54.8%	8	8.6%	64	68.8%	29	31.2%	93		
Total	5	4.4%	69	61.1%	9	8.0%	83	73.5%	30	26.5%	113		
51070700 - Health Information/Medical Records Technology/Technician													
	tion/iviedica 7	ai Record 9.6%	s recnnoi			20 40/	66	00.40/	7	9.6%	70		
Non-returner	7 7	9.6%		42.5% 42.5%	28 28	38.4% 38.4%	66 66	90.4%	7 7	9.6%	73 73		
Total	1	9.0%	31	42.5%	20	30.4%	00	90.4%	,	9.6%	73		
51090400 - Emergency Medical Technology/Technician (EMT Paramedic)													
Graduate	3	8.8%	20	58.8%	8	23.5%	31	91.2%	3	8.8%	34		
Non-returner	1	1.9%	36	69.2%	8	15.4%	45	86.5%	7	13.5%	52		
Total	4	4.7%	56	65.1%	16	18.6%	76	88.4%	10	11.6%	86		
54000000 Commissel Teacher													
51090900 - Surgical Techn Graduate	iology/Teci 0	0.0%	17	89.5%	0	0.0%	17	89.5%	2	10.5%	19		
Non-returner	2	4.5%	24	54.5%	10	22.7%	36	81.8%	8	18.2%	44		
Total	2	3.2%	41	65.1%	10	15.9%	53	84.1%	10	15.9%	63		
Total	_	3.270	71	03.170	10	13.570	33	04.170	10	13.570	00		
51150100 - Substance Abu	use/Addicti	on Couns	eling										
Non-returner	8	23.5%	10	29.4%	11	32.4%	29	85.3%	5	14.7%	34		
Total	8	23.5%	10	29.4%	11	32.4%	29	85.3%	5	14.7%	34		
51380100 - Registered Nur	reina/Pogis	torod Nu	rea										
Graduate	osilig/Kegis 0	0.0%	38	77.6%	5	10.2%	43	87.8%	6	12.2%	49		
Non-returner	1	1.2%	59	70.2%	15	17.9%	75	89.3%	9	10.7%	84		
Total	1	0.8%	97	72.9%	20	15.0%	118	88.7%	15	11.3%	133		
51390100 - Licensed Pract			_										
Graduate	1	4.0%	15	60.0%	9	36.0%	25	100.0%	0	0.0%	25		
Non-returner	10	6.0%	109	65.3%	22	13.2%	141	84.4%	26	15.6%	167		
Total	11	5.7%	124	64.6%	31	16.1%	166	86.5%	26	13.5%	192		
52020400 - Office Manager	ment and S	Supervisio	on										
Graduate	1	3.8%	10	38.5%	5	19.2%	16	61.5%	10	38.5%	26		
Non-returner	23	13.6%	83	49.1%	41	24.3%	147	87.0%	22	13.0%	169		
Total	24	12.3%	93	47.7%	46	23.6%	163	83.6%	32	16.4%	195		

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Graduate	18	15.8%	48	42.1%	22	19.3%	88	77.2%	26	22.8%	114
Completer	14	18.9%	22	29.7%	24	32.4%	60	81.1%	14	18.9%	74
Non-returner	57	7.6%	406	54.4%	110	14.7%	573	76.8%	173	23.2%	746
Undeclared	27	21.8%	38	30.6%	26	21.0%	91	73.4%	33	26.6%	124
Total	116	11.0%	514	48.6%	182	17.2%	812	76.7%	246	23.3%	1,058
Total Technical Students											
Graduate	22	4.3%	334	66.0%	61	12.1%	417	82.4%	89	17.6%	506
Non-returner	487	13.2%	1,731	46.9%	846	22.9%	3,064	83.0%	626	17.0%	3,690
Total	509	12.1%	2,065	49.2%	907	21.6%	3,481	83.0%	715	17.0%	4,196
Total Technical/Tech-Prep	Students										
Graduate	22	4.3%	334	66.0%	61	12.1%	417	82.4%	89	17.6%	506
Non-returner	487	13.2%	1,731	46.9%	846	22.9%	3,064	83.0%	626	17.0%	3,690
Total	509	12.1%	2,065	49.2%	907	21.6%	3,481	83.0%	715	17.0%	4,196
Grand Total											
Graduate	40	6.5%	382	61.6%	83	13.4%	505	81.5%	115	18.5%	620
Completer	14	18.9%	22	29.7%	24	32.4%	60	81.1%	14	18.9%	74
Non-returner	544	12.3%	2,137	48.2%	956	21.6%	3,637	82.0%	799	18.0%	4,436
Undeclared	27	21.8%	38	30.6%	26	21.0%	91	73.4%	33	26.6%	124
Total	625	11.9%	2,579	49.1%	1,089	20.7%	4,293	81.7%	961	18.3%	5,254